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X7 IR F—x Vb 45° TIL R . BOE
B4 x (L) (T) (S) (45°L) Az £ 2 (=w 7))
34 710 1,050 830 1,500 3/, 100 1,420
1 1,210 1,850 1,160 2,350 1 100 1,740
11/ 2,020 2,640 1,630 4,520 11/, 100 2,350
11/ 2,380 3,010 1,900 5,250 11/, 100 2,780
2 3,660 4,770 3,260 7,650 2 150 4,630
21/, 7,460 10,230 5,640 9,590 21/ 200 6,960
3 10,880 14,710 7,360 14,090 3 200 8,140
4 16,250 24,180 12,680 21,590 4 200 12,010
1X3/, 1,860 1,380 (B 1M
11/4X1
11/5X3/4 2,680
11/>X1 2,680
11/2X11/4 2,680
2X3/4
2x1 6,310
2X11/3 5,630 6,090 3,690
21/3X2 13,700 12,780 6,860
3%2 17,060 9,840
3X 21/, 18,150 17,060 9,840
4%2 28,330
4X21/, 15,860
4x3 30,840 28,330 15,860 T 11 1H)
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o b4 Z i A5 NS/ r — %) ) A
T (L) 65A 23,950 5 FA2 T S
LK (L) 80A 39,810 3
TR (L) 100A 69,530 2 654 200 10,350
T (L) 125A 147,900 1 80A 200 12,320
BEET LA (RL) 100A X 65A 75,110 2 100A 200 18,450
oy b (S) 65A 19,280 6 (R : 1T
7y b (S) 80A 29,340 4
Vb (S) 100A 39,700 2
Vv b (S) 125A 116,660 1
£V 7 v b (RS) | 100A X 65A 37,090 3
F—2Z (1) 100A 116,190 1

80A X 25A 63,920 3

EEF — % (RT) 100A X 25A 131,010 2

100A X 65A 136,150 2

45° T)L K 65A 38,700 5

45° TL A 100A 87,550 2
b () HATPR A v 4 — A (R + 11/ 1)
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